). Pulmonic stenosis
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7-Normal location of left ventricular apex impulse is ;
A lllor IV ICS

B.IVorVICS

C.VorViICS

D. Any of the above

8-Which of the following is not true about ‘Thrills’ ?
A. Palpable

B. High-frequency vibrations

C. Associated with heart murmurs

D. Better felt with the palm of hand

9-51 is louder in which of the following conditions ?

Pt
=

A.‘%&‘achycardia

B. Mitral stenosis
C. Short PR interval
D. All of the above

10- Fixed splitting of second heart sound diagnostic of ?

A. ASD
B. VSD
C. PDA

D. Tetralogy of Fallo

With my best wishes




